
IG920−2A, 11

Farbmetrische Transformation i = 0
c*i  = c*0  = a c*b mit a = 1,00; b = 1,00

rgb −> cmy0*e rgb* −> cmy0*e0



IG920−2A, 12

Farbmetrische Transformation i = 0
c*i  = c*0  = a c*b mit a = 1,00; b = 1,00

rgb −> cmy0*e rgb* −> cmy0*e0



IG920−2A, 13

Farbmetrische Transformation i = 0
c*i  = c*0  = a c*b mit a = 1,00; b = 1,00

rgb −> cmy0*e rgb* −> cmy0*e0



IG920−2A, 14

Farbmetrische Transformation i = 0
c*i  = c*0  = a c*b mit a = 1,00; b = 1,00

rgb −> cmy0*e rgb* −> cmy0*e0



IG920−2A, 15

Farbmetrische Transformation i = 0
c*i  = c*0  = a c*b mit a = 1,00; b = 1,00

rgb −> cmy0*e rgb* −> cmy0*e0



IG920−2A, 16

Farbmetrische Transformation i = 0
c*i  = c*0  = a c*b mit a = 1,00; b = 1,00

rgb −> cmy0*e rgb* −> cmy0*e0


